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Directions
ilems :

for the following 8 (eight)|

Read each of the following two passages
and answer the items thot follow. Your'
unswers o these ttems should be bosed on
the passages only. .
Passage-1 |
For achieving inclusive growth !
there is a critical need to rethink the rulel'
of the Btate. The carly debate amonz |
economists about the size of the f.
Government can be misleading. The need |

of the hour is to have an enabling

Government. Tndia is too large and:
complex a nation for the State to be able
to deliver all that is needed. Asking the
Government to produce all the es-ential

goods, create all the necessary jobs, and |1,

keep a curb on the prices of all goods is to

lead to a large cumbersome bureaucracy
and widespread corruption. ,-

The aim must be to stay with t.he%
objective of (nclusive growth that wiss Jaid '
down by the founding fathers of the
nation and also to take a more modern
view of what the State can realistically

deliver. |

This is what leads to the idea of an
enabling State, that 15, a Covernment that |
does not try wn directly deliver to the
that they
Insteao, it (1) creates an enabling ethos
for the that.

citizens  everything need, |

market so indiwvidual

P-PFC-L-CGJB (2 - A)

enterprise can flourish and citizens can,
for the most part, provide for the needs
of one another, and (2 steps in to help
those who do not manage to do well for
themselves, for there will always be
individuals, no matter what the system,
who neced support and help. Heace we
need a Government that, when it comes
to the

incentive-compatible rules and remains on

market, ety eftective,
the sidelines with minimal interference,
and, at the same time, plays an important
role in directly helping the poor by
ensuring that they get basic education
and health services and receive adequate
nutrition and food.

According to the passage :

l. The objective of melusive growth
was laid down by the fourding

fathers of the nution.

2. Need of the hour is
enabhng (Government.

to hieve an

3. The Gouvernment should tnguge in

maximum interference . market
processes,
4. There is a need to change the size of

the Government.

Which of the statements given above are
corract 7

(a) 1 and 2 only
fb} 2 and 3 only
(c; 1 and 4 only
(d) 1,2 3and 4
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2.  According to the passage, the strategy !
of inclusive growth can be effected byi
focussing on
a)  Meeting  all the needs of every
citizen in the country.

(b} Increasing the rogulations over the
manufacturing sector,

(¢) Controlling the distribution of
manufactured goods,

{d. Delivery of the basic services to the
deprived sections of the socicty.

a. What constitutes an enabling |
Government ?

1. A large bureaucracy.

2. Implementation of welfare
programmes through
representatives,

3. Creating an ethos that helps!
individual enterprise.

4. Providing resources to those who |
are underprivileged.

§. Offering direct help to the poor
regarding basic services.

Select the correct answer from the codes

given below : I

(a) 1.2 and 8 only

fb) 4 and 5 only i

(e) 3,4 and 5 only |

d) 1,2 3, 4and5

P-PFC-L-CGJB {4 -

4.

Why is the State unable to deliver “ajl
that 18 needed” ?

L. It does not have sofficient burcaucracy.
2. It does not promote inclusive growth.

Select the correct answer from the codes
given below

{a) 1 only

(b} 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

What is the cusential message being

conveyed by the author of the passage ?

‘al The objectives of inclusive growth
laid down by the founding fathers of
the nation should be remembered.

{by The Government needs ‘o make
avajlable more schools and health
services,

‘i  The Governmeni needs to establish
markets and industries to meet the
needs of the poor strata of the society.

‘d) There is a necd to rethink the role of
the State in achieving inclusive
growth.

Passage-2

The concept of ‘creative society’ refers
to a phase of development uf a sotiety In

which a large number of potential
contradiclions become articulate and
active. This is most evident when

oppressed social groups get politically
mobilised and demand their rights. The
upsurge of the peasunts and tribals, the
movements for regional autonomy and
self-determination, the environmental
movements, and the women’s muvements
in the developing countries are signs of
emergence of creative  soeiety  in
contemporary times. The forms of social
movements and their intensity may vary
from country to country and place to place
within a country. But the very presence of
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movernents for social transformation in-l
various ~pheres of a society indicates the ;
emersence of a creative society in a
country. .

What does the aothor imply by "ereative -
society” ¢ L

1. A sucwecty where diverse art Ihrms'
aod literary writings serk frecntive.

2. A gociety where social inequalitios '
are accepted as the norm. J

3. A suiety where a lwrge number uof
contradiclions are recognised.

4. A soviety where the exploited and |
the sppressed groups srow conscious
of  their  human  rights  and
uplifiment.

Seleet the correet snswer g-ing the codes
given oelow :

‘a- 1. 2and 3 i
b 4 only

v 3 and 4 9,

‘d %2 und 4

What according o the passage arc the
manifestation~ of secial movemoert.:

1. Aggressiveness and being incendiary, ;
2. Ipstipation by external forces. :
|

3. Quest fur sociai equality and individual
fFrecdom.

4. Urae  for granting  privilege:  und
self respret tu disparaged sections of |
T ﬁij(“i(-[‘y_ l

Setert the correct gnswer using the codes |
given below - '
‘ar 1 and 4 only
b. 2 and 4 unly i
€0 3 and ¢ only

d: 12 4% and 4

P PFC-L-CGJB ‘6

With reference to the passage, consider

the following statements -

L. To »e a creauve socicty it is
essential to have a variety of social
movements,

2. To be a creative society, it is
imperative  tu have  potential

contradictivns and cunflicts.

Which of the stutements given above
=’are correct

tar 1 only
‘br 2 only
¢ Botha 1 and 2

‘dr Neither | nor 2

Consider the following three statenents -

1. Onmly students can participate in the
race.

2.  Some participunls in the race are
girls.

3. All girl participants in the race are
invited for coaching.

Which one of the following conclusions
can be drawn  from the above
statements '

ia! All participant~ in the race are
invited for coacking

b} All  students arc
coaching.

invited  for

fc.  All participant< n e race are
students.

(d} None of the statements fa), b and
‘e miven above s turrect,
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Directions for the following 2 (two) items :

12,

Each of the following two items congists'

of four statements. Of these

four’

statements, two cannot both be true, but

both can be false. Study the statements
carefully and identify the two that
salisfy the above condition. Seleet the!
correel answer using the codes given |
below 2arh set of statements

.'

|
|

10. Examine the following statements :
1. All animals are carnivorous.
2 Seme animals are not carnivorous.
3. Animals are not carnivorous.
4 Seme animals are carnivorous.
Codes :
(a) 1 und 3
(b} 1 and 2
)y 2and 3
‘d; 3 and4
11, KExamine the following staterments .
I Al trains are run by diescl engine.
2, Some traing arc run by desel’
engine.
3. No train is run by diese! engine.
4. Sume trains are not run by dicsel |
eng:ne.
Codes :
‘ay 1 and 2
(b} 2 and 3
el 1land 3
{(d) 1 and 4
P-PFC-L-CGJB {8 .

i13.

Consider the four age pyramids given

below mnamely A B, ¢ and D

representing four different countries,

T A

%A

- .- _
— Percent in age elass - — >

Which one of them indicates the

dceclining population ?

{(a; A

(b B

{ey C

(dy D

The following figure has four curves

namely A, B, ¢ and D. Study the

figure and answer the item that follows.

3 o

5 s

g

s

E 1o

g_' i

S ===

EL U TR LR l'.n.:}' HIN 1Hll PR

Your

0 AL zm 1! +orla) ELEY ‘u

Which curve indicates the exponential
growth ?

taj A
{b! B
{cy G
(dy D
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The following pie charts show the
break up of disease categories recorded in
the patients trom two towns, Town A and
Town B. Pie charts plot the disease
categories  as  percentage of the total
oumber of patients. Based on  these,
answer the two items that follow the
charts,

Distribution of discases in Town - A

R TR AT TR T
7 i Diabetes 00
i o

I

L

-0

£ Others {12 Digbetes T\
(F-. : ')_'0 e 24 Tees)

A s

High BP
194

'k . |
N\ | Lﬁ Heart [)lsea};e |
\ } 30¢% I

A 444 |

X ITTT] E I

pan o M I 5 J W W !

L

LXirections for the following 2 (lwe) items : ' 14.

15,

2§ .
{ e ( £ 8 L !
N !
Obesity S |
34¢; 16.
F |
\\ “Heart Dis !
\ ﬂ: 22% |
A\l
nkLL H
"'“'-J-I._M JFJ_J::—P’

Which of the iwo towns has a higher
number of persons with iabetes ?

{(a) Town A

{b) Town B

{¢} Same in Town A and Towp B

{d) No inference can be drawn

What can we say about persons with
more than one disease from these
graphs ?

‘a) 'There are likely to be persons with

more than one disecase tn Town A,

(b} There are likely to be persons with
more than one disease in Town B.
() Thera are likely to be persons with

more than one disease
Towns A and B.

in both

{d) No inference can be drawn.

Consider the following Velocity - Time

graph. It shows two trains starting
simultancously on paralle! tracks.

Velocity

1.
|
|
|
I
|
! i

With reference to the above graph, which
one of the foliowing statements is no#
correct ?

{(a) Train B has an initial acceleration

greater than that of Train A.

(b} Train B is faster than Train A at all
times.

(¢} Both trains have the same velocity
at time tD.

{d) Both trains travel the same distance

in time t{) units.
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Directions for the following 6 (six) items : 117,

Read ench of the following two possoges |
nnd answer the items that follvw. Your
answers 0 these items shoyld be hased on
the passages ondy.

Passage-1 |

Kcosystems provide people with B._r
variety of goods and services; food, clean'
water, clean air, flood control, sui]i
climate
fuiilment and
aesthetic enjoyment, to name just a few.

Most of these benefits ecither are

stabilization. pollination,

regulation, spiritual

irreplaceable or the technology necessary
to replace them ix prohibitively expensive. :
For example, potable fresh water can be
provided by desalinating sea-water, but
only ar great cost.

The ramdly expanding human

popwlation has greatly modified theils-

Earth’s ecosystems to meet their increased |
requirements of some of the goods and l
services, particularly food, fresh water, i
timber, fibre and fuel. These modifications

have contributed substantially to human

well being and economic development. The |
benefits have not been equally distributed.
Some people have actually been harme J
l
l
|

long tesm  degradation of others. For|

by these changex. Moreover. short term
increases in some ecosystern goods and
services have come at the cost of the

example, efforts to increase the production |
of food and fibre have decreased the
ability of some ecosystems to prt:-\,ide[
clean water, regulate flooding and support *
bivdiversity.

P PFC L-CGJB (12 .

With reference to the passage. eonsider
the following statements,

Expanding human population has an
adverse effect on -

1. Spiritual fulfilment

2. Aesthetic enjoyment

3. Potable fresh water

4. Production of food and fibre

5. Biodiversity

Which of the statements given above are
correct ?

i 1, 2 and 3 only
‘b; 2, 4 and 5 only
‘ci 3 and 5 only

(d; 1,2, 3, 4and 5

The passage mentions that “some people
have actually been harmed by these
changes”. What does it imply ?

1. The rapid expansion of population
has adversely aftected some people.

2. Buffivent effort= have not been
made to increase the production of
food und fibre.

3. In the short term some people may
be harmed, but in the long term

averyone will benefit from
modificutions in the Farth's
eCOosystems.

Which of the statementx given above
is/are correct ?

ial 1 only
(hy 2
{c) land3

(d} None of the statements given above
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WRE GHT & |

ot ¥ T AME SEeE A TR
gk dani @, faRvaR @@, @ S,
| zaal v, i iR fem @, s &
& omawgwani # @fd & v md @
R @& Hftis gge sen © |
= snuRadT X 9 & weamor 3R e
Ry ¥ R dRIeF f&ar € | 3 T 91 E
w7 3 faRa 78 ge € | 37 oRadE & 58
anit & awge @i g & 1 s ol
TRfEfE-da & pE awgs vd Enet ol
a3y, T & dufaflr et o
TR R g & | SeeRond, @ vd W@ 6
IO @ WM $ waE 9 §P
TE DGR AFTIENE |

11.

18.

-m%éﬁﬁ,ﬁmﬁﬁaﬁmﬁww

it |

T2A T TR &1 ARIge T 8l & -

1. 3eates IRdN W)

9. dieduis® e W)

3. U 3@ FE W

4. @R UE N B FTOEA R

5. we-fafaudr |

m@mﬁ%aﬁa%mﬂ#'ﬂé’r%?

(a) paw 1,231 3

(b) Faci 2,43R 5

(c) ®am 33K 5

@ 1,238,435

e % I 2 B g dRadH & g

ot B awqer B g & | 39 o ° T

Faffea g ?

1. e & dF 3fE o P8 @ W
wfcrper yuIg U9l 2 |

2. mua‘*ifsﬁ‘asma?ﬁqﬁg:aﬁa{
fore water yor 6 g2 € |

3. yedt ¥ uRRerfee-adt § smaRadat &

gt ¥ o5 @ @ TR & g
T &, feg dufety § Wi a9
oy g |

m@ﬁﬁ%aﬂqwmﬁq%wmﬂé’r%f%?

(a) &ad 1

(b) 2
@ 13R3
@) sudes wee F F B W T
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With refercence to the passage, consider!20.
the following statements -

b It i imperative to modify the
Barth's ecosystems for <he well !
beig of mankind, '

2. Technology can never replace all the
guod: and services  provided by
ecosystems,

Whreh of the statements given above

is/sre correct 7

ar 1 only

;2 unly f

{(c; Both | and 2 '

‘d;, Neither | nor 2 '
|

21,

Passage-2
A mural act must be our own act; must
spring from our own will. If we act

mechupically, there is no moral cyntent in :
our act. Such action would be moral, if we |
think it pruper to act like a machine and

do so. For. in doing su, we use our

discrimination. We should bear in mind
the distinetinn acting
mechanically and acting intentionally, It 122,
may be moral of a king to pardon a culprit.

between

But the messenger carrying out the urderl
of pardon plays only a2 mechanical part in '
the king’s mora) act. Bat if the memaen;_{erl'
the king’s order|
considering it to be his duty, his sction

were to  carry out

would be a moral one. How can a man |
under:tand morality who does not use his
own intelligence and power of thought, but
lets himself be swept along like a log of
wood by a current ? Sometimes a man
defies convention and acts on his own with I
a view to absclute good.

A}

Which of the following statements hest

describe/deseribes  the  thought of the

writer ?

. A moral act culls for UAINE  Gur
discretion,

2. Mar sheuld rext w a sitnation

unmediately,
Man must do his duty.

Man should be  able 1w
convention in order to be moral,

defy

Select the correct answer from the codes
given helow :

(a} 1 only

(by 1 and 3
ey 2 and 3
‘di 1 und 4

Which of the following “tatements is the

nearesl definition of moral action,

according to the writer ?

far Il % a mechanica) action based on
official orders from superiors,

tb; It is an action based on ovur sense of
discredion.

(¢} It & a clever action based on the
clarity of purpose.

‘dr I ix a religious wetion based on
understanding,

The passage contains o statement “lets

homself be swept along like a lug of wood

by a current” Among the following

statements, which iscare nearest  in

meaning to this 7

1. A person does not use his Gwn redson.

4. He is susceptible to infl gence/pressure.

3. He cunnot  withstand  difficulties
challenges.

4 Heis hkealog of wood

Select the correct answer using the codes
given below :

{a) 1 only

(b) 1 and 2
(e} 2and 3
(dr 1 and 4
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19, @iy ¥ Ty ¥, Fefaied soet W faar
BT |
1. wF@ S % Seaw & e gl H

IS € |
9. Wefe &0 ff aRfeke-dE g™

1 WM T8 o T | |
30 ¥ A S-S T T BfE ?
(a) &ad 1
(b) ohacT 2
(© 13x224
() T 1ARTE 2

TET-2

v 3RE Bed TR AT FT B TR
IR I §Hed Q Epied aF e | Al
20 479 I B &, df TR o § B
e g¢ 7 AW | I8 Foa il A @,
IR &9 43 & ot o e & fa aw
#R & yeR B W | e, U ERd
70 0 F fide o wam &Rd & | 'R 3
7= 3§ ot 3 ¥ vd T 3R ahvy
FE A ¥ 97 AT @ ufge | &
< ¥ e vE Rl & e & Afas
2 gaar & | fog 59 ewE & e @
U R T gl TN &6 9 Afad Ped A
¥am ve ditye yEe & & Far s
¥ | feeg 9 g7 U & AR BT IR G
wd angER Halg &, A @ B
e P B | o W =R S I
oz ok fram wfts &1 wdm = &, iR
W P 9N B AT $ W aed & p
> 9UF 98 I & &, Afawa B wem &1
g 9FHdl & | wits S-S 9 Hedm
& g ¥ Wiy B srae I} A e ok
A T PR |

[ 16 - A )

20. ﬁ'l:lﬁ"’lﬁﬁﬁ ¥ -y TR dEE &

FaRY & gaiad auie BT B/FR § 7

1. 3ifrs o @ gid & foe o fade @
YA FETED ¢ |

0. frdr Ty & W wm @ aHfde
sfcferan @At afge |

3, WY B AW BAA B GCH BT &
et |

1. Ife a9 & fow w7 @ Tig o as
= § g9 @ wiiee |

Ar fRe e o Y wEr A e I e

{a) ®ad 1

(b) L3R 3

) 23R 3

(@ 134

. oEF & R, FefaRea § [ SR

o e v & Frocam aRymr @ 2

(2) I8 TRl & WEERe wEE W
IR Tt gea & |

by oE 30 gt w smeRa 2|

(c) UE I & FEO=A R TR

e | .
@) U= FF W e enfid e @ |

 dEn i oy TR IR S

ydIg ¥ G dPE) $ P2 B FAM 98 -
w21 Fefefen 4 X SRayend
e, 3PP Facan 39 /8 P

1. e I adbgfe & yd e o |
2. o% WHIE/EaTE &y -y 2 |
3. ax seEdl/giat @ a8 =

wwar |
4. TR S PR S A E |

AR Re e g B Hergar 3 T IW g -

(a) ¥FEA1

b 13K 2.
(¢) 23X 3
)y 13R 4




Consider the following distance time
graph. The graph shows three athletes A,
B and C running side by sidc for 2 30 km

race,

.

Time in min - —

"o i e e = e ae—p e
% 5 10 15 20 25 30 a5 40 45
Distance in km - > ;
With reference to the above graph,I
consider the following statements :
! The race was won by A
2 B was ahcad of A up to 25 km
mark
3. € ran  very slowly from the
beginning,

Which of the statements mven above -
iw‘are correct ?

(a. 1 only
‘b: 1 and 2 only
{ci 2 and 3 only

‘dr 1, 2 and 3

24. Consider the following figures ;
2|6 | R

| 80 | 24 | 120 J_ﬁfil
What ix the missing number 2
(ai 7
(b &
fe: 9
{ds 10

P-PFC L-CGJB

(16

26,

25.

Study the following figure :

A person goes from A to B always moving
to the right or downwards along the lines.
How many different rontes can he adopt 7

f | !

Select the correet answer from the cudes
given below :

{ar 4
{bi &
{c; 6
ids 7

Consider the following figure and answer
the item that follows

Whalt is the total number of triangles in
the above grid ?

la: 27
(by 26
{¢: 23
(dy 22
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Prefifed g -9g 9o W faER!
ST | T2 WEE A, B od C O 0 age
aﬂmh%sﬁmmwkma%?ﬂgam |

wWE I

C B
~ asl |
301 EA
I 25t k
A |
AT 20p :
]
JE 15+ B ]
wl c :
B ;
]

0] 5 10 15 20 25 30 35 40 45

Whkn i ——
I e & ded #, ﬁmﬁfﬁaam
R fEr @it

1 el AR NI E |

ar |

3. mcsﬁ%é’tagasﬁ%a’\gmml |

I® ¥ BEEH-S T e ?
(a) &gl 1 . :

(b) Fact 13z 2

(¢) Hae 2 3 3

(@ 1,23 8

%ﬁnﬁa@%ﬁwﬁﬂﬁaﬁm:
2 | 6 3 | ?

80 24 120 | 36
qa Sl a1 @ ?

(a} 7

(b) 8

(c) 9

(@& 10

25.

26,
9. YUH.25 km dF OT9% B UGS A ¥ R

I & 7 anpla w feR B -

e TP A B % W2l T3 5 -3
a1 Ren & aweer 9= & & 3§ 9gd gu
s 2 | 9. B R a3
qFATE ?

A
'B .
A R W g O FEad A 9E TN
e -
{a) 4
(b) 5
) 6
d 7
frafafaa sl R R de 3R 396

1 R e veier @1 IR AR

/NIN/N
AVAVANAN

g s ¥ Bl @ o de e
g

(a) 27
by 26
(e) 23
(d) 22




Directions for the following 4 (four) items :'27. The passage mentions that “this world is

. evidently not meuant for them” It refers to
Hoaud the trdlsarino pussitfe and answer Y
; people who

L TORT L A Pl it ,féafflnuf_ Yuur tEH LS Eu-:

Phoow cocees showld  he  based  on the l. seek frocdom fram Yorewen domoreetion.,
r ]

[i0xsat « wnldy

2. live in starvation «nd rMisery.
Passage ' . ]
R 3. become revolutionaries.

A country under foreign dormnation |

seche ervape from the present ip dreqms Which of the statements given above
of & vanehed age, and finds Conadlation isare cerrecy ?
0 visivns of past greatness, That is a tal 1 and 2

fonlish and dangerous pastime in which !
many af  uwx  iadulge. An eeqz.:i,allw|
quest onable practice for us in India is to :
A thel  we are still spintually fd) 3 only

‘b 2 only
(¢} 2 uand 3

great thuuwyrh we have come down in the |
world i slher Fesimclg, Spirl[ual Or uny :28. (Tonl‘ild(‘,r the fOII{)Wiflg assurmplions |
other griwiness cannot be founded on -

r-

A courtry under forewn domination

fack of trecdom and opportunity, or on: . ' ’ )
cannot indulge in spimtual pursoit.

starvation and misery, Muny western |
wrilers hatve encouraged that notion that

. 2. Poverty is an mpediment in the
ladiars arc other worldly. T suppose the y v

_ , spirttoal pursuit
poor and unforiunate in every country

pecume L sjome  extent other-worldly. 3. Subject Peop s iy become

arifesn they become revolutionaries, for vther-worldly.

thrs world s cvidently not meant for :
them So alko subjeet peoples. | With reference to the passage, which of

o, ) the above assumptions is‘are valid *
As 4 man grows to matuarity he is

nol entirely engrossed in, or satisfied (al 1and2
with, the extornal ohjective world. He - thi 2 only
sevks aboo some ianer meaning, sgme :
veyeholop ey, e phy=ical satisfactions. -
S alio wirh peaple~ and civilizations as d- 3 only

e 2 and 3

they  mature and  grow  adalt Every .

Gvilization  and  cuery people  exhibir 29, The passage themat:cally cemtres on
thiew varallel wrenma of an externsl lifi:'. ‘2 the state of mind of upprossed ponple
di¢ an interna! e Whers they meet or
Reep e by oeach of ber, there 13 an b starvat.en and Mi=ery
cgquiibrium  and  <tability. When they - ‘¢ the growth of ¢iv ization

hversn confict srmses and the crises that | (d: body. mind ard spint of people in
Lirture the ound and spirit genera)

PPFC L CGUB . 18 - A,
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ﬁm%aérm)nwfeﬁésﬂeﬁé‘w:

frifeiRaa sYarer o) aigr 3ifk 39a5 Jovia fae
e T & 3o ST | 5 e F 9P
JOR BaeT F1EI9T R & JTERe 8§ @i |
o

o8 @1 A 3N vy F 3= e &,
79 g fodht fama gn & wua § & §
oA g 2, 3N e a1 weE & &
FHETHE § Fica N Uil € | 98 uF gEange
R e e &, Tl & § 8 3e
79 @A € | B9 9RO B g8 IR0
391 2 yere 2 {6 &w s 9 gy ded
& 5 g9 aioae e & wem €, e
g o fawel A fovg # o gh €
neafend a1 3= @I HEHAn, wWamar iR
X & UG | a1

ggg%
%iiiiiia

27'

28.

29.

{19 - A}

g 7 Ioo £ T O A% TedeT 396
& =& & 1 g 3 anl @ Fide o g,
5|

1. el wy & wadFar areq & |

2. wand 3k g @1 Few A E |
3. wfaery §9 I & |

I ¥ sH-uyHH-d U w6 2R ?
(a) 13k 2

(b) &ad 2

() 23R 3

() ®Had 3

Frafias wraaRi ® fqar s -

1. foeh wya & 3= o o ks
FER0T T @ 8 aH |

2. Wmﬁﬁmm

3. U S9 WRe®-UNEn & Tad & |

TG d@e & Wed W, FE-A 3w

ARG AIETE a9 /8 ?

(a) 13k 2

(b) &I 2

(¢) 23R 3

(d) oI 3

IR orae o [vg-asg Feffea 4 @
fFawR$lad ?

(a) 3cdf&a & & FHEe |

(b) ¥ER IR g@ |

() Fgal & e |

(@) | A & o, T 3R e W
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Directions

According to the passage, the torture of '31.
the mind and spirit is caused "

fa: by the tmopact of foreign domination.

(b) by the desire to escape from foreign
domination and find consclation in

visions of past greatness.
(e} due tw lack of equilibrium between
an external life and an internal life.
id] due to one's inability to be either

revolutionary or other-worldly.

for the following 3 (three)

ilems :

P-PFC-L-CGJB

Read the passege given below, study the'
graph that jollvies and answer the three:

iteres groen below the figure.

During a party, a person was

exposed to contaminated water. A few
38.

days later, be developed fever and loose
motivnx He suffered for some days before
On
starting the treatment, he scon became

gumg to a doctor for treatmoent.

better and recovered completely a few

days later, The following graph shows
different phases of the person’s disease
condition as regions A, B, C. D and K of

the curve.

k]

Number of Bacteria

o -
o
[

( 20

32.

34.

S A}

of
to

the curve
incubation

Which region/regions
correspond/corresponds
phase of the infection ?

(a) A only

(by B only

{c) BandC

(d) No part of the curve indicates the

incubation phase

Which region of the curve indicates that
the person began  showing the
symptoms of infection ?

(a) A
) B
(e} C
d) D

Which region of the curve indicates that
the treatment yielded effective relief ?

fay C

by D

e} E

{di The curve does nov indicate the
treatment

There are four routes to travel from
ity A to city B and six routes from
city B to city C. How many routes arc
possible te travel from the city A to
city C ?

4 24
(b; 12
(cy 10
dy 8




30, oYl ¥ ITER, T R A S GO |31,
HROT TN & ? S '

(a) et g oo Wi
(b) Freh mye & vemae & seT 3R @S
- HEHF B o seaesl § i g
() ¥ e 3R stiale e & 97
e WA
© ) e B e i A 1 97wkt

& & & 7 Ree-wREvT 32.

Fretfaiae 3 (@) weral & e A -

T AT BT EFGT DT IR HPld &
Her v e diF FeFren & Fo] &M |

Rt T & i 2R B ORE oS

o Wi o 5 b awn | 3 P

fa-t e g@R o7 W AR T R | IE
¥ 78 A 7@ 98 gER 3R W B YAl
w1, R 3 ek 7@ ot | SWER YE
P B AR, Y & N IH I L
& v 3R 7= 8 A A Sopa S @
T | Feefalea s # 39 =Re of oo
yaen & fafim w9 5 A, B, C, D W
Edfi v d awigme g |

P-PFC-L-CGJB

34.

aF BE BE-A/BA-A I HPHOT B
3gUa TROT B W B/ ?

(a) &ad A

(b) ®ac B

() B3R C

d) IH FH BT W U IHSA WO B T
gelier

% & fow & % e dar & > s =fe
# ¥ipHoT & TEvT BT BN LE g P

@ A |

(b) B

) C
(d D

& o 87 3 hm & @ fob swER A
e e W g P

(a) C

(b) D

(c) E

(d) u‘a’aﬁmﬁaﬁqﬁm

MR AY TR B AT o b o R T &
M TR BT ¥ C dF o1 & fow w
TRATIIRAT IR Cao 71 & oo

R Ews & ?

(a) 24
{(b) 12
(c) 10
(d) 8




35. A contract on construction job specifies
a pevaity for delay in completion of the
wuris  beyend a certain date is as
follows 1 & 200 for the first day, T 250
for ~he second day, T 300 for the thirdi‘
day etc, the penalty for each
succeeding day being T 50 more than
thai of the preceding day. How much
penalty should the contractor pay if he
delays the work by 10 days ? '
‘a} ¥ 4950
(hy < 4250
(e} ¢ 3600
di ¥ 650

36, Consider the figure given below and
answer the itermn that follows :

P, |
.,
5
Oz P |
In the figure shown above, OPl and OP, |
are two plane mirrors kept perpendicular |
1o e¢ach sther. 8 is the direction of a beam |
of light falling on the mirror OF,. The
direction of the reflected beam of light |
from the mirror OP,, will be '
‘a; Perpendicular to the direction S.
(b} At 45° to the direction S.
) Opposite and parallel to the
direction 8. '
(d) At 80° to the direction S.
P-PFC-L-CGUB { 22

139,

38,

A

Consider the following figure and answer
the item that follows ;

What is the minimum number of different
colours required to paint the figure given
above such that no two adjucent regions
have the same colour ?

(a) 3
{by 4
(e} b
{dy 6

Consider the following figure and answer
the item that follows -

.
S |
l | 1
i : 48 :
A

A square is divided into four rectangles as
shown above. The lengths of the sides of
rectangles are natwral numbers. The
areas of two rectangles are indicated in
the figure. What is the length of euch side
of the square 7

(ay 10
by 11
{fc) 15
(d) Cannot be determined as the given

data are insufficient




35.

36.

P-PFC-L-CGJB

fodt Fmforard & dfaar 4, v FeofRa
o1 & W o waus W 28 & foe ds @
fafrde o wan 2, S 59 TR € : U

&1 & o 7 200, T & & fow 7 250, |
AR @7 o fae ¢ 300, 3R | NS

wRaal &4 & o <8 Moo &9 & 2 50
s & | ot =0 g 29 ¥ 10 T

s e § & S%AR W Rea @8 |

& Tige ?
(a) T 4950
b) % 425(;'
(¢) T 3600

(d) %650

Y & R R e D AR 39|

vz i e qeEiET & eR A

FR & 7 sl #, OP, 3R OP, & wWHdw
afoi & 3 vH-TR & HeE FR[ £ | OP,
ot T Ugw Al Weorer 4o & e S |
2 & OP, zdor & Wk gt Gt @i feem

a1 g ?

{a) Sﬁ?ﬂﬁiﬂaﬁﬁ
g feom ¥ 45° WX
S feem & fquda sk Wi

S feem A 60° R

(b)
(c)
(d)

37.

38.

(23 - A)

frr & v SR o R AR 3k s
mﬁewmwaﬁaﬁv:

SR A W Tt oft R f A Preseadt
&7 § v I 1 AE WA & & 3 Al
T 7 WA & e B9-A-5F fbee 31em-3remT
T B SRR el ?

{a) 3

b) 4

¢y b

(dy 6

R & 1 ampl R frar Site 3k I
g ST e JEAIR B I A ¢

45 -




39. A person has only ¢ 1 and ¥ 2 coins with 42,
her. If tive total number of coins that she

40.

41.

P PEC-L-CGJUB

has is S50 and the amount of money |
with her ix ¢ 75, then the number of € 1
and ¢ 2 coins are, respectively

tar 5 and 35

|
‘bt 38 und 15 :

ici 30 and 20

|
& 25 and 25 i
1

walking together

|
start 1
and their steps measure 40 em, 42 ¢cm

Three persons

and 45 cm respectively. What s the
minimum distance cach should walk =o
that each can cover the same distance |
in complete steps 7

th:

|
‘al 25 m 20 em |
i
50 m 40 em i

i)y 75 m B0 em

|

i

‘d* 100 m %0 cm |
l

‘13-

Thure are 100 students o a partcular
60"~ students play cricket, 30,
student play football and 107 students
play both the games. What is the
number of students who play necither
cricket nor {ootball ?

claxs,

‘a; 25
‘b: 20
{c} 18
{d» 15

A village having a population of 4000
requires 150 litres of water per head
It has a tank measuring
20 m x 15 m x 6 m. The water of this
tank will last for

per day.

‘a) 2 days
‘bt 3 days
‘tr 4 days
'dr 5 days

If a bus travels 160 km in 4 hours and : Directions for the following 4 (four) items ;

a train travels 320 km in & hours art |
uniform speeds, then what is the ratio!
of the travelled by them in
one hour ?

distances

(dr 1:2

_ |

. i

|

‘el 45 '
|

]

( 24 -

Read the following passage and answer
the items that follow:. Your answers to
these items should be based on the
passage only.

Passage
A species that exert: an influence
out of proportion to its abundance :n an
ecosystem is called a keystone species.

The keystone species may influence both
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41.

P-PFC-L-CGJB

AT P TEI 1A 2 GaE € |
oz 3a» w9 oa 50 e € 3R oAy
T 758, @ I9% g ¥ 1A T 2 % Fgeml
B = BHIE .

(a) 153k 368 -
M) 353R 158
(@ 303k 208
@ 253K 258

&= =fts 05 |y cael IRY axa & oo
b HeHl & AN BT 40 cm, 42 cm TAT
45 em £ | W wfw fGad =Faw g8
a% 9@ e TOE wWie W g @
wRON H g IR A ?

(a) 25 m 20 cm

(b) 50 m 40 cm

{¢) 75 1m 60 cm

(dy 100 m 80 cm

afe va-a9F e F TR R UG §9 4 W@
3§ 160 fordt g @ FIRAT & TA TH IS
54¢ # 320 fod g 7 o B, & 3
BN uF W H 7a & T gRAr A F
T 7

(a) 8:5

(b) 5:8

, (c) 4.5

(d 1:2

42,

43.

iy en 3 Tyl <& g 1002 | 60%
fronell fiowe Qe &, 309 faemedli gediar
e & qur 10% o 2F @ Qo & |
R Rl & e aw & @ W A s
Wrig & 3R 9 & podie Wer & P |
(a) 25
(by 20
() 18
(@ 15

us Tiig B e 4000 & fFeay o af
wits wiafea 150 e Fa & Nawasd
2| 3 19 vD U @ &P & e
MT 20mx15mx6me | U & B
ﬁmﬁﬂﬁﬁ:ﬁftwm?

(@ 2f=i &
(b) 3f&= A
) 4% H
@ 5=+

| A=lRea 4 (ar) seret & foe [Rder -

frafRaa aGier & 9y IR oo Iwia
R me gl & IR A6 | T AW F .
¥ IR FIeT GG o7 & IeRa &g
Tifew |

TR

ve sifd sh e oRfReRe-ds &
FTN TERAT & U § TG IR THE S
&, 30 ol (EReH) Sufer wer S @ 1
ST (@) S, Jfa & et 3t
wife aen aRRufad-d3 § ama w3t sk
qarelt & WaTg Bl Wi aX wedl € | '
aRT grgeker shaifRmw W, A I
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the species richness of communities and

the fluw of energy and materials through
The Pisaster
ochraceus, which lives in rocky intertidal

ecosysLermns. sea  star

. . H
ecosystems on the Pacific coast of ‘North !
America, is alsn an example of a keystone
species Its preferred prey is the mussel

Mytilus colifornianus. [n the absence of !
sea stars, these mussels erowd out other
in a bread belt of the
intertidsl zone. By consuming mussels,

competitors

sed star creates bare spaces that are :
taken over by a variety of other species.

A study at the

Washington demonstrated the influence of ¢

University of

Pisaster on speries richness by removing |
sea stars from selected parts of the
intertidal 2one repeatedly over a period of
five years. Two major changes occurred in f
the

removed. First, the lower edge of the

areas from which sea stars were
mussel bed extended farther down into
the intertidal zone, showing that seca stars
are able to eliminate mussels completely
where they are covered with water most of f
the time. Second, and more drainatically,
28
dizappeared from the sea star removal :
Mytilus, the
dominant competitor, occupied the entire
itz effect

competitive relationships, predation by}

species of animals and algae

zone. Kventually only

substratum. Through

on ;

fisaster largely determines which species

live in these rocky intertidal ecosystems.

{ 28

44.

i46'
¥

-A)

What is the crux of the passage ?

ta} Sea star has a preferred prey.

(b} A preferred prey determines the
sarvival of a keystone wpecies.

{c} Keystone species ensures species
diversity.

{d) Sea star is the only keystone species
on the Pacific coast of North
America.

With reference to the passage, consider
the following statements ;

1.  Mussels are generally the dominant
species in intertidal ecosystems.

2. The survival of sea
generally  determined
abundance of mussels.

sturs 18
by  the

Which of the statements given above
is/are correct ?

(a) 1 only

‘b) 2 only

(¢} Both 1 and 2
(d) Neither 1 nor 2

Which of the following is/are implied by
the passage ?

. Mussels are always hard

competitors for sea stars,

2. BSea stars of the Pacific coast have
reached the c¢limax of their
evolution.

3. BSea stars constitute an important

component in the energy flow in
intertidal ecosystem.

Which of the statements given above
is/are correct ?

fa) 1 and 2
(b} 2 only
{¢) 1land3
{dy 3 only
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Consider the following assumption:s :

. The food chains/food web in an

ecosystem  are  influenced by

keystone species.

2. The presence of keystone species is
8 specific characteristic of aquatic
ecosystems,

3. If the keystone species is completely
removed [rom an ecosystem, il will
lead to the collapse of the

ecosystem.

With reference to the passage, which of
the above assumptions is/are valid ?

(a} 1 only

{b) 2 and 3 only
(c; I and 3 only
(d) 1,2 and 8

Consider the following argument .

“In order t0o be a teacher one must
gradnate from college. All poets are poor.
Some No

Mathematicians are poets,

college graduate is poor.”

Which one of the following is not a

valid conclusion regarding the above

argurnent ?

{aj Some Mathematicians are not :
teachers,

tb) Some teachers are not

Mathematicians,
¢} Teachers are not poor.

Poets are not teachers.

{d,

{ 28 -

49.

50.

al.

A

A student on her first 3 tests received
an average score of N points. If she
exceeds her previous average score by
20 points on her fourth test, then what

is the average score for the first
4 tests ?

(a}) N + 20

(b) N + L0

(cy N+4

d N+5

In a group of persons, 7(4% of the
persons are male and 30% of the
persons are married. If iwo-sevenths of
the males are married, what fraction of
the females is single ?

(a) 2/7
(b) 1/3
() 3/7
(d) 2/3

The houses of A and B face each other
on a road going north-south, A's being
on the western side. A comes out of hix
house, turns left, travels 5 km. turns
right, travels 5 km to the front of D’
house. B does exactly the same and
reaches the front of C’s house. In this
context, which one of the following
statements 13 correct ?

fay C and D live on the same street.

(b, C’s house faces south.

The houses of
than 20 km apart,

(c) and D are less

{di None of the above
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(c) areas foefa w5t 2 |
(@) ST Heams 7K 2 |

49,

50.

51.

{29 - A)

e WM A9 Wewh § & wEn @
3t v N 3% & | ol a' s 9l
g § fUser e gais ¥ 20 36
AF W FRAT &, A W IR GREvi Ht
ST WA TR 7

{(a) N+ 20

(b N+ 10

(¢} N+4

d) N+5

3R 30% AR %ET%H ‘%
2/7 wm fqafea & o H%a'raa’r w1 fEa
o7 fqaifed & ?

(a) 2/7

(b) 1/8

(c) 3/7

(d) 2/3

Fa-<fEor S UF E5% W HH-ArH A
v BEF R E {5t A & w afkad AR
2 AT R N GER N B, WY g
£ 5 km Tor &, =0 AT &, 3R 5 km
TR DFPWE AT I T2 | B
N AEIB W A T EARCTF RS
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() CIRDFRGTR ¥ 20km ¥
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Directions
items : i

P-PFC-L-CGJB

for the following & (ﬁve)ii

Read the tollowiny puassage and gnswer
the
Ehese itvm s <huonld be Bised on the i e

et thot folfow Your answers b

only. :

Passage ‘

Nuw Indias children have a right |

to receive at least erght years of edaeation. -
the gnawing guestion is wheather wiﬂ]
remain on paper or become a reality, One !
hardly teeds s reminder that “his ruzht
s differont from the others enshrined in

the Cvnetitution, that the beneficiary

“a six year old child cannot demand it, nor !
car she or he fight a fegal bautle when |
|

the right 1+ denred or violated. In all cases, |
1t % the aduit =ociety which must act on ;

behulf of the child. In another peculiarity

where s child’s  right pducaran i

ta
deried ro tompensation offered later can

he This s l'

il

adequate or  relevant.
because ch:ldhond does not last. If a legal ¢

battle foupht on behaff of a chuld -
everntually won, it may be of little use to -

the boy or wirl becawse the opportunity

mizsed ot school during childhood cannot

serve the =ame purpose iater in bfe. Ths
]

may be panfully true For girls because

our society permiis them only a ﬁhortl
3

{ 30

A

childhood, if at wuil The to

Right
Education (RTE;, bus become law at a
point in [adia’s histury when the ghastly
practice of female infanticide has
resurfaced in the form of foeticide. Thisg
is “symptomatic of a deeper turmeil” in
society which is compounding the
traditional obstacles to the education of
girls. Tenacious prejudice against the
intellectual potentis) of girls runs across
our cultural diversity and the system of
educatien has not bevn able to address

it.

With reference to the pussage, consider
the following statements -

{.  When children are denied education,
adult society dovs mot set on behalf
of them.

2 Right to Education as a law cannot
be enforced in the country,

Which of the statements given above
ts/are correct 7

(a) 1 only

‘bi 2 only

(¢c; Both { and 2

{d) Neither 1 pnor 2
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54.

Acgording to the passage, what could be i55.

the traditional ohstacles to the !

cducation o wirls ?

1. Inuabibty oi parents o fight a legal
hattie when the Right to Education
1= deraed s ther chaldren.

2. The traditiona® way of thinking
about @irls’ rule in society.
3. Thw prejudice against the °
i eNlertual potential of girls, EI
|
1

I proper av=<tem of education.
Select the correct answer from the codes
;;ive.r; Db

rar 1 and 2 only

n

[o

, 3 und 4 ouly

—

c Cd und 4 only

d DA A andg 4

On the basis of the passage, consider the
“ollowin.: latements

I. Right to Eduvation is a legal right and
not a fundamental right.

2. For realising the goal of umniversal
education, the eduecation systera in the
country must e niade identical to that
of developed eountries.

N s—

Which of the sfatements given above -

beare carreet 7

«a. 1 only i
‘b, 2 anly .
‘cy Both { and 2 .F

'dY Neither ! ner 2

P-PFC-1.-CGJB ( 32

.56,

Which one of the followng statements
conveys the key message of the
passage 7

{a} India has declared that education is
compulsory lor its children.

(b} Adult society is not keen on
implementing the Right to
Eduecation.

(cy The Right to Bducation, particularly

of a girl child, needs to bhe
safeguarded.

(d)y The system of education should
address the issuce of Right to

Education.

Which onec of the following statements
conveys the infervnce of the passage 7

{a) The

prejudice

tenacious
intellectual

society has a
against the
potential of girls.

{b] Adultx cannot be relied upon to
fizht on behalf of children for their
Right to Education,

fe; The legal fight to get education for
children is often protracted and

prohibitive,

(d; There is no suffivient substitute for
education received in childhood.
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Read the following passage and answer
the 3 (three) items that follow :

A, B, C, I and E are members of the
same family. There are two fathers, two
sons, two wives, three males and two
temales. The teacher was the wife of a
E is

neither also a wife of a

lawyer who was the son of a doctor
nct a male,
professional. C is the youngest person in

the fumily and D is the eldest. B is a

male.
57. How s D related to E ?
ta) Husband
(b} Son
(¢ Father
'dy Wife
8. Who are the females in the group ?
(al Cand E
by C and D
fey E and A
‘d; D and E
59. Whose wife is the teacher ?
a) C
tby D
¢} A
‘dr B
P-PFC-L-CGJB

60.

61.

62,

'63.

Read the following passage and answer
the 3 (three) items that follow :

In a survey regarding a proposed
measure to be mtroduced, 2878 persons
took part of which 1652 were males. 1226
persons voted against the proposal of
which 796 were males. 1425 persons voted

for the proposal. 196 females were
undecided.

How many females voted for the
proposal 7

{a) 430

{b) 600

(c) 624

(d) 640

How many males were undecided ¥

{(a} 31

(b} 227

(c) 426

(d) 581

How many females were not in favour of

the proposal ?

{a) 430
tb) 486
(c) 586
(d) 1226

In a queue, Mr. X is fourteenth from the
front and Mr. Y is seventeenth from the
end, while Mr. Z is exactly in between
Mr. X and Mr. Y. If Mr, X is ahead of
Mr. Y and there are 48 persons in the

queue, how many persons are there
between Mr. X and Mr. Z ?

{a) 6

by 7

ey 8

idy 9
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Frerfeiea s @ aRE 3k sud veag R
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(a) 430
(b) 600
{c) 624
(d) 640

. ot qow sl & 2

(a) 31

(b)) 227

(¢} 426
(d) 581

., Torae fedi yame & wer § 2 off 7

(a) 430
(b} 496

(¢} 586

(d} 1226
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(a) 6

(b) 7

() 8

(d) 9




Directions for the
items

jfollowing 9 (nine)

The followrny nine items ‘Questions 64 tu
72) arv based on three passages in
English fus tesi the comprehension of
Engiish longuoge ond therefore these
items do not have Hindi version. Read
cach possoge and answer the items that:
follow. |

|
Passage-1 |

He walked several miles that day but |
coule not get anything to est or drink
except some dry bread and some water,{
which he got from cottagers and farmers.
As night fell. he slept under a haystack’
lying in a meadow. He felt frightened at;
first, for the wind blew awfully over the
empty fields. He felt cold and hungry, and |
was feeling morv lonely than he had ever
felt before. He, however, soon fell asleep,
being much tired with his long walk.
When he got up next day, he was feeling
terribly hungry su he purchased a loaf of
bread with a few coins that he had.

64. When the night fell, he slept
fa;  w the open feld |
thy  under a pile of dry grass |
{c) in a farmer's cottage
'd»  under a tree
65. He soun fell asleep because
{at he was exhausted
‘b he was ail alone
¢. he had not slept for days
‘dr  he was very frightened
P-PFC L-CG.B ( 36

66.

A

With reference to the paassage. consider
the following statements -

1. He
countryside,

was walking through the

2. The cottagers and farmers gave him
enovugh food <o that he could sleep
at. night without feeling hungry.

Which of the statements given above
is/are correct ?

{a) 1 only

(b} 2 only

{c} Both 1 and 2
d) Neither 1 nor 2

Passage-1I

{ opened the bag and packed the
boots in; und then, just as | wus going to
close it, a horrible :dea occurred to me.
Had I packed my toothbrush ? 1 don't
know how it is, but [ never do kaow

whether I've packed my toothbrush,

My toothbruxh i a thing that

haunts me¢ when P'm travelling, and
makes my life a mi~ery. 1 dream that |
haven't packed it, and wake up in a cold
perspiration. and get out of bed and hunt
for it. And, in the morning, [ pack it before
I have used it, and it 15 aiways the last
thing I turn out of the bag: and then 1
repack and forget it. and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up

in my pocket-handkerchief.
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64.

65.
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Freafifia 9 () wearer (veier 64 € 72)
35 & T eraren ox s & 3l st
wir & g & gewr s fow & 1 s 57

weien @y it o T Rar e & /|

ST Ao URe aen FeliRed gyeaien &
JO% alf7e |

Passage-1

He walked several miles that day but

could not get anything to eat or drink|

except some dry bread and some water,
which he got from cottagers and farmers.
As night fell, he slept under a haystack
lying in a meadow. He felt frightened at
first, for the wind blew awfully over the
empty fields. He felt cold and hungry, and
was feeling more lonely than he had ever
felt before. He, however, soon fell asleep,
being much tired with his long walk.
When he got up next day, he was feeling
terribly hungry so he purchased a loaf of
bread with a few coins that he had.

When the night fell, he slept
(a) in the open field
(b) under a pile of dry grass

{¢) in a farmer's cottage

(d) under a tree

He soon fell asleep because
(a) he was exhausted

() he was all alone

(¢} he had not slept for days
(d) he was very frightened

{37 - A}

66.  With reference to the passage, consider

the following statements :

1. He was walking through the

countryside.

2. The cottagers and farmers gave him
enough food so that he could sleep
at night without feeling hungry.

Which of the statements given above
isfare correct ?

(a) 1 only

(b) 2 only

(¢} Both 1 and 2
{d) Neither 1 nor 2

Passage-I1

I opened the bag and packed the
boots in; and then, just as I was going to
close it, a horrible idea occurred to me.
Had 1 packed my toothbrush ? I den't
know how it is, but I never do know
whether I've packed my toothbrush.

My toothbrush .is a thing that
haunts me when I'm travelling, and
makes my life a misery. I dream that I
haven't packed it, and wake up in a cold
perspiration, and get out of bed and hunt
for it. And, in the morning, I pack it before
I have used it, and it is always the last
thing I turn out of the bag; and then 1
repack and forget it, and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up
in .my pocket-handkerchief.




——ﬁ

67. When he was going to close the hag, the |70.
idea that occurred to him was
tat unpleasant
‘b sad
¢ fantastic
‘d]  amusing
68. What makes his life muserable whenever |
he undertakes travelling ?
‘a)  (loing to railway station 71.
ibr  Forgetting the toothbrush
‘v Packing his bag
d; Bad dreams
1
69. His toothbrush ts finally
{al n his bag
‘b in his bed
¢ in his handkerchief i 72.
td: lost
Passage-I[11
[n spring, polar bear mothers emerge from |
dens with three month old cubs. The
mother bear has fasted for as long as eight
months but that dees not stop the young |
from demanding full access to  her:
remaining reserves. If there are triplets,
the mos=t persistent stands to gain an
extra meal and it may have the meal at
the expense of others, The smallest of the
Litter forfeits many meals to stronger
siblings. Females are protective of their
cubx but tend to ignore family rivalry over
foud. In 21 years of photographing polar
bears, ['ve only once seen the smallest of |
triplets survive till autumn.
P PFC-L-CGJB { 38 -

Female pular bears give birth during
‘a) spring

‘b summer

(c) autumn

d) winter

Mother bear

{a} takes sides over cubs ‘
(b) lets the cubs fend for themselves ‘
{e} feeds only their favourites

(d) sees that all cubs get an equal share

With reference to the passage, the
following essumptions have been made

1. Polar bears fast ax long as eight
months due fo non availabsbty of
prey.

2. Polar bears

triplets,

always give hirth to

Which of the assumptions given above
isfare valid ?

(a) 1 only
b) 2 only

(c; Both 1l and 2

{d) Neither 1| nor 2




6'7. When he was going to close the bag, the | 70.
idea that occurred to him was
(a) unpleasant
(b) sad
{c) fantastic
(d) amusing

68. What makes his life miserable whenever
he undertakes travelling 7 71.
(a) Going to railway station
(b} Forgetting the toothbrush
(¢) Packing his bag
(d) Bad dreams '

69. His toothbrush is finally .
(a) in his bag
(b) in his bed -
(¢) in his handkerchief )
{d)} lost

Passage-III

In spring, polar bear mothers emergs from
dens with . three month old cubs. The
mother bear has fasted for as long as eight
months but that does not stop the young
from demanding full access to her
remaining reserves. If there are triplets,
the most persistent stands to gain an
exira meal and it may have the meal at
the expense of others. The smallest of the
litter forfeits many meals to stronger
siblings. Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only once seen the smallest of
triplets survive till autumn.
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. Female polar bears give birth during

(a) spring
(b}
(c)

(d)

sumimer
autumn

winter

Mother bear

'(a) takes sides over cubs

(b) lets the cubs fend. for themselves
(c) feeds only their favourites

(d) sees that all cubs get an equal share

With the
following assumptions have been made :

reference to the passage,

1. Polar bears fést as long as eight
months due to non-availability of
prey. ' ‘

2. Polar bears

triplets.

always give birth to

Which of the assumptions given above

isfare valid ?

(a)
(b)

1 only
2 only
(¢) Both 1l and 2

(@) Neither 1 nor 2




Directions
items : t

for the

Givvn below are vight items Kach item |
!
describes a situation and is followed by}

four possible  responses. Indicate  the |

Jind

FeSpose Y must  apprupriate,

Choose vrly ovre response [or each e,

|
The responsie will be evaluated hased or
D

the 'eied of oppropriateress for the gz’vm;

setuation.

Please attempt all the items. There is !

no penalty for wrong answers for.

these eight items. [
73. Yaou have been asked to  give an
explanation for  npot  attending  an

‘mportant official mevtins. Your

mmediate boss who has not inforwed !

you about the meeting i» wow putting
pressure on o you not to  place an |
alleration against. him/Mer. You would

-a =end o written reply explaining the
f.;xi.‘.t.,

. . 4

‘h.  stek an appointment with the Lupt
bousx 10 explain the siteation. |

o admit  your faull to  save the
situation,

d- put the responsibiiity on the :
coordinator of the meeting for not
informing,
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75.

b,

following 8 (eight) 74. A local thug (bad element; has started

illegal construction un your vacant plot.
He has refused your request 1o vacate and
threatened you of dire conseguences in
case you do not sell the property at a
cheap price to bim. You would

ia) wsell the property a1 a cheap price w
him.

{b; gov to the police fur necessary action.

‘cy ask for help from your neighbours.

'd}  negotiate with the goon to get a

higher price,

You have to accompiish a very important
task for your Headguarters within the
next two days. Suddenly you meet with
an accident, Your office insists that you
complete the task. You would

{a) ask for an extension of deadline.

(br inform Headquariers of your
inability to finish on time

{c;y suggest  aiterpate  perscn  to
Headquarters who may do the
needful.

(d; stay away 1ili you recover,

You are an offiver in-charge for providing
basic medical Facilities Lo the survivors of
an earthquake affected area. Despite your
best possible effort, people put allegations
against you for making morey out of the
funds =iven for reliet. You would

ta) let an enquiry be set up to look into
the matter,

(b) ask your semor to appoint some
other person in your place.

(e} not pay attention to allegations.

) stop undertaking any initiative till

the matter is resolved.
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Hizr s g Re e & | vE g H|

o Rt &1 avly &, 50 veerg 39 O
vwg FR e 7w & 1 oW IR @ I
galftrs Juges wrad & 39 319 39T TR &
wy # sifde Ffow | gAw gene & faw
Fac ow & JAX gl | IR @ qrdie,
& 7 Reffy & fere Jugpar & &R & 3TE]
gy fasqr Fme |

Ppuar g e & o) w1 5T s
weiel & fore wma IR & foe @i @5
T E

v eyl snftreiRe dow W IoRa A
89 & BRUT U 3% ASIBI0T HT
™ | ey ImaE AR e
TP 39 do6 B TGN T8 4 9 3
3T R U 9@ TE WRe & 5 3

gEGT AN 39 W A8 5 | U § 309 &=
B ?

(@) T B T[N A g FEN fokad

TR WE

(b)Y e siftrerd @Y Rerfdt ¥ s
M ¥ fow R e o why ol |

(. Rafa & dwem & for smer dw
WHR F |

(d)y 958 ® WAIEID W Ma'lﬁ?'q'
7 & & 39 doo & FEEN
Ul

75.

76,

(b) 3OS HRER & fow & U™
STE | gers

(c) = uiRdl § Fee | |

@ 39 R I IR e dwa o & fae
TR I PR |

I &) & § e geaew & o s

s A wEvagel o [ S € | 3EEE

m & I € | 3] Sraferg A

R g8 SR 10 1 & 5 A0 & & W R |

o # 3mT T 4 P

(a) &M YR B o aiferm [ am wemr &
3FIHR | | '

(by 3 TEEa P GRS B
TE AR @R A H e §

(¢) NN YA H TF dH(cud Al @l
A GFN 3 B O SR o1 § |

(&) T B TP 3eH & @ |

fFd e yHu wnfad & ¥ qPT ¥ 98

A w2 o @ e R <

weH $1 & e TR ARy

fbar Tar & | Td W AWT PR B

TGIE, T WIS FY Tg 3R o 2 | {6

IgIE s WA e R T

U W 3y T B ?

(a) 39 weh & g oy § Sife-gsae
qRH 3 A |

(b) H aikes e & Fae w1 6 @

g s e |
(©) 37 FIRW W B e 8 A |

(d) T4 9% FHAT goe A8 o Y
I B 97 A& B |
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You have been made responsible to hire"?ﬂ.

boatz at @ short notice to be used for
pricec mentioned by the boat owners vou
the
approximately three times
the

You

found that wwest  price  was

than
approved rate of the (‘rﬂverrxme:nt.'l
wauld

1

an ares under flood. On  secing !;hu‘
more i

a’ reject the proporal and cail fuor u

fresh price. |
ib- accept the lowest price.
¢y refer the matter to the Government |
and waurt,

td: threaten the boat owners about a.

possible cancellation of the licence. |

You are the officer-in-charse of a v'iﬂ!age!
administering distribution of vaccine in '
an isolated epidemic and
left with only one vacvine. .

hit  village,
you #HFe
There i+ a requirement of that vaccine |
from the Coram Pradhan and alsu a"BO.
poor villager Yuu are being pressurised |

by the Gram Pradhan 1o the
vaceine to hom. You would

fssue

‘ar initiate the procedure to exprdite
the next supply without issuing the |
vaccine to either. l

. . . . i
‘b: arrange vaccine for the poor villuger
from the distributor of unother areq.

‘¢t ask bnoth to approach a doctor and’

get an input about the urgency. !

the Ciram:

]
Prachan &om the distributor of

idy arrange  vaccine  for

another area

[ 42

A

You have taken up 2 project to create
nizht shelters  for prople
during Within a
wrek sheiters, you
have the
residents of the area abont the increase

oIl ess
winter
of e=tabliiMing -ag

Lhe AUCILSON,

received  complaints from
in theft cases with o demand to remove

the shelters. You would

{ar ask them to lodge a written

complaint in the volice station.

{br assure residenis of an enquiry into
the matter,

fer ask the

reridents  to eonsider

humanitarian effort made.

‘d contitue with the projeet and ignore
their eomplaint,

You, as an  administrative authonty,
approached, by the

daughter-iv- law of an afluential per-un

have been
regarding “arassment by her in-laws on
account of dowry. FHoer
parcnts are not able to approach you
becanse of sevial pressures. You would

insufficiernt

fa)  call the in laws for an explunation.

‘b counsel the lady to udjust, given
such a circumstance,
‘e take action  afer  her  parents

approach you.

‘d- ask ber to lodge s complaint with
the police.
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s Se-died &9 § el 36U Y W
At g R oW @ e e mwar & |
W I UK § [ _Aa Hd SRR
FIHIRT & & e §F T s @ |
T A AT T WA P

(a) F& TKR™ P T T A I
e | | |
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() TAR B WHR d 99 dF a1 3R

elten & |

(d) Aleraieel @ a5l 3 5 T
gy g & o g |

w ad wEdORam e d s

I-FRes & & faeeu e T W |

Fte € 3R Hod uw Fawm ww o
TR T & g3 R | 39 O &
TH-NeH BT 3R 3G g & ve W @
W sewa & | 309 W ¥ &9I9 a9 g3 &
Fawmdm mmaemE & e | WY
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(a) TET B & ST 7 IR WY Eid B
I WU @ gy eg-sifoeiy A
gﬁﬂi%@ﬂﬁﬁﬁﬁdﬂé’fﬂ%aﬂ
|
5 R 89 & fame | Wila 3
e & for i @ sgaRen &R |
() =T @ He fb sieex I et 3k O
B HUETTET & T ¥ I9D TOE
et I |
&l R 7 & foRe & am-mem &
o &% & T & |

(b}

(d)

79.

80.

FA, o9 ®g § oR @l & e R
g P vH uRdE 39 'l W oe &
= -39 @1 i) =1 & U6 99E &
TR &, sme = &3 & Fef 2
WMRAT & AW g8 B T T T IE
mmgé%haﬁm&amlﬁ%
T 3N a7 T ?

(2) 39 FaiE F w0 6 3 39 wwa A
gie ®eH W e fafaa Risra
st ax |

(b) mﬁmﬁnﬁaﬁ%ﬁ%mﬁmﬁ%
AHer P SiT-U=ara & S |

© 3 SaRet ¥ o B § fee e
HHAAGTEl YUY & 9Hg |

(@) 3 ot & Bewd @ sFeE
N IRAS B IR T |

%mmﬁm‘i%sa%gaagmqﬁsw

G FARAE SR €M & A, I8

Rreraa s 3uch & 6 39, TR a3

AT Teal & o0 an X @ & | 39

Arall-far |5 @rdl & BROT HUS TR

TA T ARE | T T T T HA P

(a) 3T IqH G AT DI Arh I
WEIHROT T |

b) U IF T D a8 Fg a1 F
oRRokril @ 2%@d g S&R em f$
% fofy ¥ wir &= & |

(c) 3 35 AE-UaT & 3D 99 T
R & TR S |

(d) AT I EN P IE Acg A b a9’
giers & Ort 3 Brerae & Y |
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